ST EERAE (FKREHMR) FE(7.5m) 77—V VEAETE

EHES  18-17-25-004
ERBEaE NMNHAEER
EE - B - R RBRABE - ZEERE

BL  REXE
ZEEH 0E

FERS BEE

FHIEH HALEXE
FEER EHEBLIREE
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BEANRE A7 E R R (B B )RR (-7 5m)r — Y SE T

£ g I - KT & BfT 8 2 B & % =
EEIEZE 95,721,729
=B (7. 5m) 95,721,729
RE&T 1,897, 509
EHEHEET 1,897, 509
=451 383, 520
1 EREA BEY Sy ¥—7 2 RC-40 t=20cm 544. 00 705 383, 520
m2
BUMRHEST - #HSM L 40, 599
2 BIFASL - MES L 9.00 4,511 40, 599
m2
avyy—+ 1,473, 390
3 avyy— TR 18-8-40 (=%F) W/C=60% t=10cm 51.00 28, 890 1,473, 390
m3
AT 93, 824, 220
F—y BT 93, 824, 220
=451 251,672
4 V=T 4 U TEEE ERARAR 386.00 652 251,672
m2
Bi5 6, 659, 890
5 SHEHH R HE 951.00 3,049 2,899, 599
m2
6 NEHEHL 1,543.00 2,437 3, 760, 291
m2




BEANRE A7 E R R (B B )RR (-7 5m)r — Y SE T

4 [} IR - WAKTiE B B = B {f & £ =

E2 Y 21,2317, 957

T #FHMIAEIO SD345 D13 47,274. 00 209 9, 880, 266
kg

8 HEIMMIHAIO SD345 D16 14, 842.00 207 3,072, 294
kg

9 BFHMIEIO SD345 D19 15, 868. 00 207 3,284,676
kg

10 #%HmMIHEI® SD345 D22 12, 189. 00 207 2,523,123
kg

11 #HmIEIO SD345 D25 19, 406. 00 207 4,017,042
kg

12 REkm EENENM TR AR SS400 D70mm L=3, 550mm 32 00 128, 000 4,096, 000
'S

13 RExmrflaL 3,642. 00 98 356, 916
kg

14 B SS400 $28x1.90m 2.00 2,740 5, 480
'S

15 BRAFEIL 18.00 120 2,160
kg

g 32,637, 696

16 SHEIE 48T 4041 4,992. 00 6,538 32,637, 696
m2

avhy—+r 27,037, 005

17325 )—HMMTHR 30N-12-20BB  W/C=50% 955. 00 28, 311 27,037, 005
m3




BEANRE A7 E R R (B B )RR (-7 5m)r — Y SE T

% R R - RARSTiE BfL % 8 B ® # m o=

HERERE GEL) 2,812,845
HBREH 2,812,845
HBEREE 2,812,845
ERE 2,551,743
EERmaR EFE R 2,551,743
18 RS0 E 1.00 2,551,743 2,551,743

=
| 141,102
REXE 141,102
19 KR - RER XBFER 1.00 141,102 141,102

=
RifEEE 120, 000
BifrEE 120, 000
20 EREPRRE 1.00 120, 000 120, 000

=




TN7TEERABEREHX)FECTSmr—Y U S8ETE

172,942,

£ b B - KT B = B ® &
EEIEE 95,721,729
BEIER 10, 240,850 + 29,001, 957 39, 242, 807
HBERERE GH 2,812,845 + 6,805 814 + 622 191 10, 240, 850
HBREE (HLE) 2,812,845
HBEREE (X ) 95,721,729 x 7.11% ((4.84% x1.00 +1.50%) x 1.100 x 1.02) 6, 805, 814
BSRENER 95,721,729 x 0.65% 622, 191
R f it 105,962,579 x 27.37% ((22.63% +1.53%) x 1.100 x 1.03) 29,001, 957
TR 95,721,729 + 39,242, 807 134,964, 536
—REBEES 134,964,536 x 16.45% (16.45% x 1.00) — 187 22,201, 479
RREEE 134,964,536 x 0.04% 53, 985
T H{fits 134,964,536 + 22,201,479 + 53,985 157,220, 000
HERERLE 157,220,000 x 10.00% 15, 722, 000
FRIEE 157,220,000 + 15,722, 000 000
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&5 1
&% EBBRAE BEY Sy v—7 > RC-40 t=20cm 1000m 2 H Y
2 b g - BIRTE By = B O %8 W = " =
HEEERA BEYVZvIv—352 RC40
m3 256. 00 2,100. 00 537, 600
E—2JL—45 (AR ERE) 3.1m
B 0.50 60, 078. 00 30,039/5. 10H / 8H
A4 0O—7 (B A A xKRE) 8~20t
B 0.80 60, 611.00 48,488 5.00H / 8H
A—FA—3 G A X RKRE) <THhAE L 10t
B 0. 40 56, 903. 00 22,761/5.00H / 8H
LTEEXE
A 3.00 21,110. 00 63, 330
MR EXENOY
% 0.50 702, 218. 00 3,511
& B YEZERES - 1,000.00m 2 705. 00 705, 729
5.2
2 F5 : BUARHAS - MHSL L Tm2%Y
2 b g - BIRTE By = B O %8 W = " =
RIfR4HST - fH5M L
m2 1.000 4,511 4, 511
& Hi E%EEN : 1.00m 2 4,511 4,511
53
2 a0 )—MTER 18-8-40 (&YF) W/C=60% t=10cm Tm3%HY
2 b g - BIRTE By = B Ol %8 W = " =
avy)— MTH 18-8-40 (&=*F) W/C=60% t=10cm
m3 1.000 28, 890 28, 890
& Hi 1E%HEH : 1.00m 3 28, 890 28, 890
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&5 4
B IL—D 0 VTR BREER 100m 2 & 1)
£ £ I - BIKTE = £ " %
W—7 1 VT ek
60, 700
BR AR 9357 hMER
& {E%8E5 : 100. 00m 2 65, 200
#5:5
B MR RIBENL 100m2=Y
£ £ I - BIKTE = £ " %
SR RIS (r— Y V) JL—oiRE
270, 300
v 00— L— GhEERER) 100t &
34,616
& &t {E%8E5 - 100. 00m 2 304, 916
H#S:6
2 NEHE 100m2%Y
£ £ I - BIKTE = £ " %
NEHZEW (r—y VE1E) JL—oiRE
209, 100
y0—359 L— GhEERER) 100t &
34,616

& &

YE%#E7 : 100.00m 2

243,716
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&5:7
L $kRFINTHAID SD345 D13 1000k g Y
2 b g - BIRTE BT o = il %8 # " =
% (2 SD345 D13
k g 1,030. 00 101.00 104, 030
SIS (r— D E1E) yL—rtkE
k g 1,000. 00 82.16 82,160
yR—59 L—r GhEERER) 100t 5
B 0.20 115, 388. 00 23,077 8H
& Hi YEZHeH : 1,000.00k g 209. 00 209, 267
&5 :8
L $kRFINTH#AIQ SD345 D16 1000k g Y
2 b g - BIRTE BT H = il %8 # " =
% (2 SD345 D16
k g 1,030. 00 99. 00 101, 970
SIS (r— D 81E) yL—rtkE
k g 1,000. 00 82.16 82,160
yR—59 L—r GhEERER) 100t 5
B 0.20 115, 388. 00 23,077 8H
& Hi YEZERESN - 1,000.00k g 207.00 207, 207
&5 :9
L $kEFINTHAIQ SD345 D19 1000k g Y
2 b g - BIRTE BT H = il %8 # " =
% (2 SD345 D19
k g 1,030. 00 99. 00 101, 970
SIS (r— D E1E) yL—rtkE
k g 1,000. 00 82.16 82,160
yR—59 L—r GhEERER) 100t 5
B 0.20 115, 388. 00 23,077 8H
& Hi YEZERESN - 1,000.00k g 207.00 207, 207
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&5 :10
L $kEFINTHAI@ SD345 D22 1000k g Y
2 b g - BIRTE BT o = B O %8 # " =
% (2 SD345 D22
k g 1,030. 00 99.00 101, 970
SXARINTHASL (r— Y > ELE) g L—dkE
k g 1,000. 00 82.16 82,160
yR—59 L—r GhEERER) 100t 5
B 0.20 115, 388. 00 23,077 8H
& Hi YEZERESN - 1,000.00k g 207.00 207, 207
&5 11
L $kEFINTHAI® SD345 D25 1000k g Y
2 b g - BIRTE BT H = B O %8 # " =
% (2 SD345 D25
k g 1,030. 00 99. 00 101, 970
SXARINTHASL (r— Y >V EE) g L—2tkE
k g 1,000. 00 82.16 82,160
yR—59 L—r GhEERER) 100t 5
B 0.20 115, 388. 00 23,077 8H
& Hi YEZHeH : 1,000.00k g 207. 00 207, 207
&5 :12
B REH SRAEW AL SS400 D70mm L=3, 550mm 1AL Y
2 b g - BIRTE BT H = B O %8 # " =
R EkE D70mm x L=3. 55m SR AER RmEkER JIS Z
2241 690N/mm2LL £ ZN 1.00 128, 000. 00 128, 000
& B 1E%HERN - 1. 00K 128, 000. 00 128, 000
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&5 :13
L mEARHAL 1000k g4
£ 5 L - BIRTiE BT = B %5 i " =
REKAR - M/ \—HL # A5 1Z50mm~80mmk %o L— ik E
k g ,000. 00 75.92 75, 920
s0—5%9 L— GHEESR) 100t /@
B 0.20 115, 388. 00 23,077 8H
& Hi YEZHeH : 1,000.00k g 98. 00 98, 997
&5 :14
2 BfnAR SS400 28 x1.90m 1A%y
£ 5 L - IRTiE BT = B %5 i " =
B SS400 28 x1.90m
ZN 1.00 2,740.00 2,740
& B 1E%HERN - 1. 00K 2,740.00 2,740
&5 :15
& . B 1000k g1y
£ 5 L - BIRTiE BT = B %5 i " =
REKAR - M/ \—HL KA EI8MEKHE Y L— R E
k g ,000. 00 97.76 97, 760
20—5%9 L— GHEESR) 100t /@
B 0.20 115, 388. 00 23,077 8H
& Hi YEZERESN - 1,000.00k g 120. 00 120, 837
&5 :16
UL Y VR )N 100m 2%y
£ 5 L - BIRTiE BT = B %5 i " =
SRBIRIAAE ST RS (r— ) D ELE) g L—otkE
m2 100. 00 6,077.00 607, 700
20—5%9 L— GHEESR) 100t /@
B 0. 40 115, 388. 00 46, 155 8H
& Hi YEZERES : 100.00m 2 6, 538. 00 653, 855
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&= .17
& a4y )—+4TE% 30N-12-20BB  W/C=50% 10m3HyY
2 b g - BIRTE By = BHO(f %8 # " =
LT4—3HRbarvy)—+F 30N-12-20BB W/C=50%
m3 10.10 23, 500. 00 237, 350
a2 )— MTHR (G —Y 2 8E) Ry TE
m3 10. 00 4,576.00 45, 760
& Hi YEZERESN - 10.00m 3 28,311.00 283,110
&= .18
R F5 . 5 AEAAILERR 1LY
2 b g - BIRTE By = BHO(f %8 # " =
STFL—29L—r A AR ER) GhEffE > I 60t H
B 3.10 107, 000. 00 331, 700 8H
HIRIEXS
A 11. 30 25, 060. 00 283,178
EfREEE YEIEE O
% 315.00 614, 878. 00 1,936, 865
& Hi 1E%HeH - 1.00K 2,551,743.00 2,551,743
&5 19
2% KF - BRER REBEFES 1LY
2 b g - BIRTE By = BHO(f %8 # " =
RBFEZHFEB
A 10. 00 14, 040. 00 140, 400
MR 2E0%
% 0.50 140, 400. 00 702
& B 1E%Heh - 1.00K 141,102. 00 141,102
E5:2
&% AREIRAE 1LY
2 b g - BIRTE By = BHoO(f %8 # " =
HEREIMAE
I=E 1.00 120, 000. 00 120, 000
& Hi 1E%HeH - 1.00K 120, 000. 00 120, 000




